
Subtraction with numbers up to 20, no
regrouping

Grade 1 Addition Worksheet 

Find the difference.

8   -  3   =1 .
1 7  -  8   =2 .
1 9  -  7   =3 .
 2  -  1    =4 .
1 5  -  5   =5 .
1 4  -  3   =6 .
1 6  -  4   =7 .
1 9  -  2   =8 .
 5  -  1   =9 .
1 4  -  1   =1 0 .



Subtraction with numbers up to 20, no
regrouping

Grade 1 Addition Worksheet 

Find the difference.

 7  -  3  =1 .
1 8  -  9  =2 .
1 6  -  5  =3 .
 3  -  1  =4 .
1 7  -  6  =5 .
1 5  -  4  =6 .
1 9  -  3  =7 .
1 2  -  1  =8 .
 6  -  2  =9 .
1 4  -  2  =1 0 .


